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EIRT B A (14.17+24. 29) /2 X 45. 5=875 m 875. 00 880
7 v AHE 2m X 11K+1. 5m X 1f+2m X 2680 =75. 5 m 75.5 76
7 x v AR 2. 4+1. 0+47. 7+21.8=72.9 m 72.9 73
WGy 10kg/m X (75.5-72.9) /1000=0. 026 t t 0. 026 0.03
(0.5+0.8) X0.5/2=0.33
IR 0.33Xx21.8=7.2 m 7.2 7
HER L 0.12X21.8=2.6 it 2.6 3
UL A1) IS - PRA =7 U — RMUBLUARNE300B m 22 22
RE% T B E - Wk 1.524X6. 096X 110=1021. 9 m 1021.9 1022
Bk AR B 1104k B 110 110
B E RGN 5 D TE 1.604 t /AL X 1108 =176. 4 t 176 176
(R DORGAR - fFELE | 1.604 t /KX 110K =176. 4 t 176 176




